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PART-III

NUMERICAL APTITUDE

101. A sailor goes 12 km downsiream

Im 48 minules andgd relurms in 1
hour 20 minutes, The speed of
the sallor in sl water is ;

{1} 12 km/hr {2} 12.5 km/ hr
1313 kmfhr (4] 15 ke

103, 11 24-carat gold {5 congidered to

be hundred per cent pure. gold,

then the percentage of pure gobd
in 22-caral gobd is:
3 2
i al I ) 91'3—
| 2
81— 9=
&1} 3 [B] 3

X
108, 0f x*;"ﬁ.th.cn the value of

1
{1} 15

I

1 ’
P P
3 mg
3 % (4] % ‘

121 16

T [4)-16

LOB. The price of sugar is Ineeeased

Ly 25%. If & farmily wanta to keep
its copenses o sugar unmskbersd,
then the family will have to re-
tuce Lhe consumplion al SUgLar
bz

[1)20%
[ 220G

12121%
|4 25%

DB, Asum ol money insoants oe S50

in 3 vears and to » %25 in 4 years
al same rale of slmple interest

The sum s :
[1) %= 550
3 w625

(2 & 600
(4w 700

107, Fipe Acan (i a claern in 6 houws

and pipe B can fill it in 8 bours.
Both the pipes are opened sienul-
taneously, but afler bwo hours,
e A s elosed. Flow many houns
will B 1ake to Al the remaining
part of the cistern ¥

-

I
2 22y

&
{1 25 {24

108, The sides of a triangls are in the

ralbo %ll{“_-% anc s perimeler
15 94cm. The length of the small-
est aide of the triangleis;

{1} 18 cm (2122.5 ¢m

13k 24 cm 27 cm

, The average of seven consecutive
positive Integers is 26, The small-
esl of thess integers 4
11 21 223
[ 25 14 26

L1, Due toan increase of 50% in the

111

1Lz

113

price of eggs, 4 cggs leaa are
avallable for ¢ 24, The present

rate of eges per dogen 1a

e 24 (@)= 27

3 ¢ 36 #r a2

Mext number of the sequence
2,8, 28, 65, 1246, ____is:
(1125 2 e

(31 208 {41217

I s Income is. 20% mare than
that of B, by how muech percenit
ie B's income less than that of A7

4 1
16— 16—
i) % 123 3

3 2
i3 1£3E 14 lﬁ?
Xoalone ¢an complete a piece of
work in 40 days. Fe workedd for
& days and left Y alone complet-
ed the remaining work in 16
s, Howe bong would X and ¥
together take to complete the
work 7

1
(1) '33 daya 12} 14 days

(3] 15 days - {4} 15% fays

114,

115,

116:

117.

118.

Which ol the folkrving saiceessive

discount series s the best of all

for a customer

(0] 3OS, 203, 1004

(Z] 25%, 20%, 15%

(3 0%, 104, 15%

(4] 25%, 15%, 10%

What price should a shopheeper

mark on an articls costing him ¢

200 to gain 35% alter allowing a

thiscoumnt of 25% 7

[l w 270 (= 300

(% = 330 (4 7 360

Total weekly emoluments of the

workers of a factory Is ¢ 1534,

Average weekly emolument of a

worker s ¢ 118, The number of

workers in the factory 1a

(L] 18 12 14

(3 13 fap 1

The lenggth and bresdih of & reci-

angle are Increased by 20% and

A5% reapectively, The increase

in the area of Lhe resuliing rect-

angle will be -

[E] 608 (2] G

(3] 4046 (41 304

A tmain trwvelling with unifosrm

speod crasses fwo bridges of

lengthe 300 m and 240 m in 21

seconds and 18 seconds respec-

Lively. The speed of Lthe train is :

(1) 72 bem/hr (2} 66 km/hr
Vkmfhr 480 km/hr
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118, The wrong (misfit) number of the

121.

122,

123

125.

127,

sequence 5, 15, 45, 135, 305,
1215, 3645 is :

(1) 395 (2) 135

(3 45 (4)5
A= %Bandﬂn %C.mmﬁ
:B:Cia:

ms:4:1 (@E4:2:1
@1:4:8 (4j1:2:4

A 7T m wide road runs outside

around a circular park, whose
clrcumference is 176 m. The area
of the road is :

L

Iusen-El
LRl

(1) 1386 m* (2) 1472 m?

(3 1512 m? (4) 1760 m?*

If the cost price and selling price
of an article are in the ratio 10 :
11, then the percentage of profil
Is:

(1) 10 2)9

33 . a1

A shopkeeper sells his goods at
156% discount. The marked price
of an article whose selling price
is ¥ 628 s :

(1)= 740 2} v 704
[@e 700 (e 614
. Present population of a village is

67600, It has been [(ncreasing
annually at the rate fo 4%. Whal
was the population of the village
two years ago 7

(1) 62500  (2)63000

3 64756  (4)65200

The average age of A and B is 30
years and that of B and C is 26

years. The difference of the age
of Aand B is :

(1)2 years (2) 4 years
(3) 6 years (4) 8 years
Twenty women tohether can com-

plete a work In 16 days. 16 men
together can complele the same
work in 15 days. The ratio of the
working capacity of a man to that
of a woman is :

1) 3:4 2)4:3

B5:3 [4)4:5

1
If a+;+]=ﬂla=0] then the

value af [a* - a) is :

(10 21
32 -1

128, Ifthe height of a cone is increased
by 100% then its volume is in-
creased by :

(1} 1008 (2] 200%
(3 3008 (4) 400%

129, If x is a perfect sguare integer
such that 7 < (2x- 3) < 17, then
the value of xis :

(1) 25 2 16
[@e 4 4

130. The difference between the sim-
ple interests recelved from two
different banks on % 500 for 2
years is v 2.50. The difference
between their per annum rates

of interest is :
(1) 0.10%  (2)0.25%
(3} 0.50% (4 1.00%

898
599 —— =« 999 :
131. 999 is egualto:

(1) 908099  (2) 999899
(3) 989999  (4) 900980

132. The cost price of 24 apples is the
same as the selling price of 18
apples. The percentage of galn
is :

(1) 12% 2

1] 1\6E 1

3

Amerchant sold an article for ¢
75 at a profit percent equal to his
cost price. The cost price of the
article was :

() ¢45 (2% 50

(3] = 54 (4) % 60

The largest among the numbers

0.9, (0.9, J0.9,0.91s:
(1) 0.8 (2) (0.9)*

(3 J0.9 4l 0.9

1356. The rain water from a roof 22 m
» 20 m drains into a cylindrical
vessel having a diameter of 2 m
and height 3.5 m. If the vessel is
Jjust full. then the rainfall in cm

133

134,

ig
(1} 2 2)2.5
(33 4)4.5

136. If the difference between the sell-
ing prices of an article at profit
of 6% and 4% is ¢ 3, then the
cost price of the article should

be :
(1) £100 2) #150
(3) #175  (4) €200
137. If nls an integer, then (0 - n} is
always divisible by :
(1) 4 (215
(3) 6 47

138. A sum of money was lent at sim-
ple interest at a certain rate for 3
years. Had it been lent at 2.5%
per annum higher rate, it would
have fetched ¥ 540 more. The

money lent was
(1) & 6400 (2) ¥ B472
(3) ® 6840 (4) % 7200

139. What number should be added
to each of 6, 14, 18 and 38 =0
that the resuliing numbers make

a proportion ?
mi
M3

2)2
(4] 4
140.

0.08x0.08 x0.08 +0.02x0.02 x0.02
0.08 x0.08 - 0.0016 +0.02 x 0.02

is

simplified Lo :
(1) 0.001 (210.1
{3} 0.0016  (4)0.016
141. Ifx= /3 + /2. then the value of
1
[Iz * ;ﬁ'] is :
(1) 4 2)6
(39 {4} 10

142. The ratio of the number of boys
and giris in a school is 3 : 2. If
20% of the boys and 25% of the
girls are scholarship holders,
then the percentage of the stu-
dents, who do not get the schol-

arship, is :
(1) 78 (2)75
(3160 {4) 55

143. The HCF of two numbers is 15
and their LCM is 225. Il one of
the numbers is 75, then the oth-

eris:
(1) 105 (2} 8o
(3) 60 {4) 45
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144. While ﬁndi.ng,t.ha average of. 10
ey Biven numbers, a student, by
_ Jmistake, wrate 64 in place of a

umber 46 qugnt his correct:

average 50, “The correct avemge

of the given numbers is :

(1) 48.2 (2)48.3

[3) 49.1 {4) 49.3 T
145. In a mixture of 60 litres, the ra-

tio of milk and water is 2 : 1.

How much more water must be

added to make ils ratio 1-: 2 7
AL} 40 litres (2) 52 litres. .
- (3) 54 litres . (4) 60 i.l.tres
ldﬂ. The area of an equilateral trian-
"'gle is 4,3 cm?. The length of
each side of the triangle is :

(1) 3.em (2) 2 /2.cm’

(3) 23 cm (414 cm )
alw Directioms (147 — 150).+
=:The ple-chart, given here, shcmrs
various expenses of a publisher in the!
production and sale of a book. Study
the chart and answer questions based

Miscellancous
expenses(4%)

147. If the printing cost is £ 17.500,
the ‘Royalty’ paid is:
(1) +8,750 (2)%7.500
" (@) 6,300 (@)w3.130
148. The measure of central’ hngle:!'ur
the section "printing cost is :
(1) 126 (2) 7o°
. 13 63 (4)35°
1498, Miscellaneous expenses are what
percent of paper cost 2, ..
(1) 4 210 .
(3] 40 (444
150. The difference betwecn the mea-
sures of central angles of sectors
for binding charges and adver-
tisement charges is @
(1) 180° (Zya0°
3) 18° 4y0°
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Answer: Numerical Aptitude

101 1 126 2
102 2 127 1
103 3 128 1
104 1 129 3
105 1 130 2
106 3 131 1
107 132 4
108 3 133 2
109 2 134 4
110 3 135 2
111 4 136 4
112 3 137 3
113 1 138 4
114 1 139 2
115 4 140 2
116 3 141 4
117 2 142 1
118 1 143 4
119 1 144 1
120 3 145 4
121 1 146 4
122 1 147 2
123 1 148 1
124 1 149 3
125 4 150 4




